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MAC2313 Test 1 A gl A e et
(5 pts) 1. What is the value of ((2,1,0) x (1,0,-3)) - (0,1, 1)§? |

A -2 B.0 C. 2. LD 5} E. none of the above

(5 pts) 2. Let u-and w be vectors in R? such that ||uH =3, |[w|| = 2 and the angle between the

two Vectors is 7/2; what i is the Value of ||3u - 4WH‘7 ‘ o e r?"
\\ 3w - l.;i ":j.: {‘“, T J ';,v} ‘“ - ,\ B i = {:; ] ',f 8] e — 9’% AR - g §‘ 4“.7 \V;f ‘ o ;? -:f 3 7{ ?::,f CQ
A. /59 B. 55 (C V1% D. V43 E. 2\/

(5 pts) 3. If u and v are vectors in R? and c is a scalar, how many of the following are true?
i.v-(cu)=c(u-v) .~

ii. [lev]) = le| vl v~

i vov =2

iv. v x (cu).: (—cu) x v |

!N
~ (C W) XV

A0 B .2 D.3

(5 pts) 4. Is the following equality true or false: |v| :—8

V(t) = 5.
ity Jt
LA ’H‘u@; B. False

e




(5 pts) 5. Let a = (0,6,2) and b = (0,2,4), then the component of a parallel to b is given by? ;

E. none of the above

(5 pts) 6. If i, j, and k are the standard unit vectors and c is a nonzero scalar, then how many
of the following are true? :

LlixGxk|=1 v

( ' Y
IRy =3 ML= —K, |-ki=l
i fci- G+ k) >0 ¥
ci» (jrek) = el ¥ i K=0
iii. j is parallel to i x k — _.'3

v/

v kxj=—-i

v

i

A0 B. 1 Q.9 ib.g\ B 4

(5 pts) 7. Which of the following points lie on the curve of intersection of the paraboloid
z = 222 + 2y*> — 5 and the plane y = 17 S ‘

(A.(2,1,5) B. (0,1,-2) C. (1,1,1) D.(=1,1,1). ~  E.none of the above




(5 pts) 8. The domain of the function r(t) = <ln t,4/1— et cos(t? — 1)> is:
tro 1zt +£20

A.(0,1)U(l,00) B.(=00,0)U(0,1)U(1,00) C. [O,I)U(l,do). D. (1, 00)

L

e ~ \
[E. none of them above/

e fodo ofi il o1

(5 pts) 9. If u and v be vectors in R? such that [u| > 1 and |v| > 1, then u-v > 0.
i . " ihacle ‘Q‘s‘“‘ﬁﬁ Yo +han )

— C’\a'rrg,« Zb/ 2«;:% lﬂfa"f‘{" oA ‘3{\ . v

A. True | B. False | e 5

S | Lut 0]

(5 pts) 10. If r(t) = (6t%,—5, t*), then the length of the curve on the interval t € [0,3] is equal

f B A A _ﬁ\\
A. 88 B.102 - C. 121 D. 144 | E. none of the above |

we I+ A%

dne (gbdt

. b G2 -
5 3.5
1) = O




(5 pts) 11. The curvature of r(t) = (2cost,sint 3t) at t = 0 is equal to:
g ASin JCJ ,,’ S b b W c;\ :,I cos # ;

. : r 5‘ \\ (Oi J
A-1/10 B.1/4 R
y by K] N wetll = T
| o] ?; = é,) + 2[4 - o e Z"‘ST
|56 oo | T ) e el of® 12
(5 pts) 12. How many of the followmg are true?

i TxN=B/V
BN S

iii, k= |dT/ds| v

B fi .
iv. N = (dT/ds)/|dT/ds| N vk

A0 o G D. 3 ' 4%7}

| S —

o (5 pts) 13. The normal vector to the plane —2z 4 4y — 6z = 0 is orthogonal to which of the

following vectors: .
{-2,4,76%~ La,be>= -2a+db~bc =0

A (-1,2,3) B (-L,1,1)] C.(6,0,2) D.(1,-2,3)  E. none of the above
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(7 pts) 1. At a given point on a curve N = <1/\/§,—1/\/§,1/\/§>‘, T = <1/\/6, Z/ﬁ,l/ﬁ>,
and a = (2,1,2); find ay and ar.

(7 pts) 2. If (t) = (6t2 + 1, 7 cos(rt), 4et) and r(0) = (1,0,0), find (t).




(7 pts) 3. If T(t) = (1/+/3) (sint + cost, 1,cost — sint), calculate B(t).

Cina_
(7 pts) 4. A given plane is described by the system of equations z = 2t + 7, y = —3t + 4, and
z = 5 — t; find the equation of a plarie parallel to the given plf;fl{e and which contains the point

(1,1,0). Ciag BRCNS




(7 pts) 5. Give a parametric equation of the line segment connecting the points (—1,4,0) and -
(5,2, —3). :




